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PHYSICAL EDUCATION

PAPER 11
Time Allowed : li Hours]| [Maximum Marks : 100
Note — Attempt all questions. Each question carries {wo marks.
1. Sports as culture heritage of :
(A) Customs and traditions (B) Competitions
(C) Co-operations (D) All of these
. 2. Transfer of learning works effectively when :

(A) The situations are almost identical
(B) The human body needs some form of play
(C) The pl#yers exhausted
(D) V None of.' the above
3. Isometric exercises are :
(A) Toe touching exercises
(B) Pressing one’s hand against the wall

(C) Peddling an ergo bicycle

(D) Brisk walking .
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4. Weight can be effectively managed by :

(A) dieting (B) fasting
(C) physical activity ' (D) medicines
5. When a badminton player begins to learn tennis the transfer effect in this

process is by and large :

{A) Negative . (B) Neutral

(C) Zero (D) Positive

6. White fibers are also called as :

(A) Slow twitch fibers (B) Fast twitch fibers
(C) Both (A) and (B) (D) None of these

7 Tactics is more important in :
(A) Throws (B) Weight lifting
(C) Gymnastics (D) Combat sports

T.B.C. : 16/14/ET-II B
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8. Cardiac muscles are the muscles of :

(A) Skeleton (B) Heart

(C) Stomach . (D) Leg muscles
9. Con‘lponentls of blood isfare :

(A) Alactacid and lactacid (B) Haemoglobin

(C) Myoglobin (D) None of these
10. Warming up hel;)a an athlete to :

(A) Relax the body

(B) Relax the mind

(C) Prevent injuiry and enhance performance

(D) Avoid being ill and sick.

11. The difference in ordinary walking and walking as an exercise to keep fit

lies in its :
(A) quantity (B) variety
(C) difficulty (D) intensity

T.B.C. : 16/14/ET-I1 6
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12. By which of the following instruments is the vital capacity measured ?
(A) Lactometer (B) Goniometer
(C) Thermometer (D) Spirometer

13. At present the most reliable laboratory method to investigate muscular action

is :

(A) electrothermomet?r (B) electrodiameter
(C) electromyography (D) electrobiometer
. TR is a state of balance between two opposing forces of effect.
(A) Motion (B) Equilibrium
(C) Force (D) Spin

15. In back spin, the ball rotates around :

(A) Vertical axis (B) Horizontal axis

(C) Both (A) and (B) (D) None of these

T.B.C. : 16114/ET-II 8
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16. Slightly movable joints are :
(A) fibrous joints (B) ball and socket
(C) synovial joints (D) cartilaginous joints

h § Which of the following movements, knee cannot perform ?

(A) rotation (B) flexion

(C) extension (D) pronation
IB: cocimensssasmnve is a negative emotional state.

(A) Stress (B) Aggression

(C) .Tension (D) Anxiety

19. A good leader should not be :

(A) energetic (B) impatient
(C) reliable (D) decisiveness
20. Spectators attendance in sports eventis can be increased by :

(A) selling tickets at low price (B) radio announcements

(C) newspaper (D) all of these

T.B.C. : 16/14/ET-11 10
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21. What has become the major revenue source in world level games ?
(A) Media (B) Sponsorship
(C) Tickets | (D) Political parties
22. Teacher's democratic approacl; leads to :
(A) discipline (B) arrogance
(C) stress (D) anger
23. Operant conditic;ning t;aeory is proposed by :
(A) Plato (B) B. F. Skinner

(Cy Ivan Pavlov (D) E. L. Thorndike

24. Practice of perfection in a motor or athletic skill is basically a function

of :
(A) insight process (B) conditioning process
(C) trial and error process (D) observation process

T.B.C. : 16/14/ET-1I 12
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26.

27,

Job opportunity for physical education professionals is :

(A) Programme manager ' {(B) Mechanical engineer

(C) Software professionals (D) Chartered accountants

Shree Hanuman Vyayam Prasarak Mandal at Amravati was founded :
(A) to start the degree programme for under graduates

(B) to look into the need of sports and activity infrastructure

(C) w establ.ish the vyayamshalas in the society

(D) the cause of indigeneous physical activity system

Which of the following agencies decides the nomenclature of various teacher

training courses in physical education ?
(A) Central board of secondary education
(B) Ministry of education

(C) State education department

(D) National Council of teachers education

T.B.C. : 16N4/ET-11 14
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31.

The essence of professional ethics lies in :

{A) acquisition of specialized knowledge

(B) doing service to the society before self

(C) one’s effort to be a‘perfect human being_

(D) moral issues that arise in a professional field of service
The elemantary school education predominantly ought to be :
(A) fun education (B) skill education

(C) movement education (D) awareness education

Which of the following kinds of activities needs to be given the maximum

amount of time available for activity at elementary school ?

(A) Ball handling activities (B) Games of low organisation

(C) Developmental activities (D) Rhﬁhmc and dance activities
The individual teacher responsibility for student health is :

(A) observation (B) conference with principal

(C) doctor consultation (D) none of these

T.B.C. : 16114/ET-I1 16
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32.

33.

34.

TB.C. :

What happens during rest after work 7

(A) Energy lost (B)

(C) Fat gain (D)

Energy required for vital functions are :

(A) food energy (B)

(C) BMR ()

Which is the correct formula to measure

weight (kgs)

(A) height (mts) e (B)
weight (kgs)

(C) £ (D)

height® (mts)

Fatique removed

None of these

base energy

BMI

BMI ?

weight? (kgs)
height (mts)

height (mts)
weight (kgs)

Which of the following is not a type of physical fitness ?

(A) physiological fitness {(B)
(C) economical fitness (D)
16/14/ET-11 18
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36. The richest source of energy of our body is :
(A) carbohydrate (B) fat
(C) proteins (D) wvitamins

37. ‘Bench Press’ exercise is designed to have the greatest effect on which group

of muscles :
(A) calf (B) -abdominal
(C) thigh (D) chest

38. Which of the follow;ring vitamins is water soluble 7
(A) Vitamin A ; (B) Vitamin E

(C) Vitamin B (D) Vitamin K
39. The term carbohydrate loading used by athletes means amount of
energy :
(A) Spend during work out
(B) Generate during per unit of time

(C) Extract from the food we eat

(D) Store in our muscles

T.B.C. : 16/14/ET-11 20
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40.

41.

42,

T.B.C. :

The structure of prognostic sports performance should form the basis

of :
(A) formulation of training (B) player’s performance
(C) teacher’s training (D) institution training

Which option is not the part of tactics ?
(A) Motor skills (B) Knowledge of technique
(C) Knowledge of rules (D) Judges reaction

When the training load is neither too low nor excess of any athlete capacity,

it is called :
(A) optimal load (B) crust load
(C) normal load (D) maximum load

Which research is focussed on immediate and specific application and not on

the developmental theory ?
{A) Analytical research (B) Experimental research

(C) Action research (D) _Evaluation research

16/14/ET-11 22
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44. Mean, median and mode are the part of :

(A) probability (B) wvariability
(C) central tendency ) (D) frequency
45. Introduction comes in the :
(A) reference section. (B) preliminary section
(C) main body of the thesis (D) title page

-46. The principle of overload is :
(A) rapid increase in the work load
(B) training load and adaptation
(C) greater work load at the time of competition
(D) training from higher to lower load

47. Isometric exercises are :
(A) change in length during muscle contraction
(B) equal rate of motion or equal speed

{C) no change in length during muscle contraction

(D) none of the above
T.B.C. : 16/14/ET-11 24
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43. In a successful system assignment of authority most necessarily go

assignment of :

(A) responsibility *(B) duty

(C) power (D) status
49. Any scientifically principle based management will ensure :

(A) equitable distribution ot: resources

(B) planning on more or less permanent basis

(C) development of every one’s potential and efficiency

(D) prosperity of every single individual in the organization
50. Which is not the principle of lesson plan ?

(A) Harmonious development {B) Exercise repetition

(C) Progression (D) Lesson discontinuity
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